>
N & 0l & Av S Z M A
AT Z2YANUDS SNBSS
Hu: PMSSHE 7
Sl WMSSTA B CERED
A .24 - B BAGEA) - NPAY - BES 0l &k o4 p/E-T Hl DS 2
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=P 1,293,262 1,331,684 738,422
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03 A2 bl 50,000 0 50,000
OBMsts 012 &0t 50,000,008 + 13l 50,000 0 50,000
301 YBHEHB 6,400 0 6,400
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SN P SAGEH) - HRAY - BYS p/E-E" HlnE2
gesa 2,989,116 1,519,107 1,470,009
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< 25,500 25,500 0
Al ,244,616 1,374,607 870,009
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N = 0 &8 AFH Y & A AN
A= Z2YANUNFRH M AEEH
HH: ZBEMD 5 L 2HEA X4
Col AN-E AR FMLS (el @ e)
A= -2 -3 - AA(3H) - NEAMY - BES 0] AFoH Iy H HnE2
AT A2 2,896,933 2,863,625 33,308
=2 92,148 92,148 0
Al 2,804,785 2,771,477 33,308
2RCHZ 245 L 23S A £S 2,435,673 2,404,673 31,000
ANBEZAH2 HM2A35 1,315,553 1,325,953 A 10,400
CAZ B2 146,492 156,892 210,400
201 L2 75,600 86,000 A 10,400
03 A2 72,060 82,460 210,400
O=AHE T2 29 348 0& 0 6,400 N6,400
Ogoaxn T2 29 9,500 13,500 A 4,000
cmz Y 2AAE2  FE 8,000,0008 x 14l 8,000 12,000 A 4,000
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ANEEH22H 819,720 763,720 56,000
207 SR IH ey 25,000 20,000 5,000
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MESS(AZTZAHR) 2,308 0 2,308
BEXE 2,308 0 2,308
2l gret2 2,308 0 2,308
802 Bret 2| Ef 2,308 0 2,308
0l 2DEX2urs2 2,308 0 2,308
020199 M HH 25 - 2Y AlY LA
2k A 0] Kt 2,307,980 * 14l 2,308 0 2,308




